LecT
Lesson Six

Grammar:

poK

Dialogues:

Spelling/Sounds: Spelling {O} — 3 ways: 0, &, e

A: “She's probably a genius”

B: “He's probably a genius”

Word order (cont’d)

Possessives

Basic negation in Russian

‘Location’ endings: -e vs. -un vs. no
change

JAunanorn Dialogues
A. OHa, HaBépHO, réHnM She’s probably a genius
(Still looking at pomoepdpus)
Joma: 1 [ Xopom6. S BcE moHMMATIO. 1o TBOI cTapmmit OK. [understand everything. That’s your
2 | Opart, a 310 ero xeHa. older brother and that’s his wife.
Créna: Her, TbI OmsiTh BCE mepenyrana. JITo Mosi Midias | No, you mixed everything up again. That’s my
cecTpa U e€ MyX. A 3TO HX IETH. younger sister and her husband, And that’s
(those are) their children.
Jloga: 5 | A e KuBYT UX 1ETH? Where do their children live?
Cténa: |6 |CeiH— umkenép. OH xuBET B bocrone. A nous He | Their son is an engineer. He lives in Boston.
7 | pabotaer. OHA yuutcs B [IprHCTOHE. Their daughter doesn’t work. She’s a student at
Princeton.
Jlioma: |8 | B [Iprircrone? Huuer6 ce6¢! Ona, HaBEépHO, I€HUN. | (4t) Princeton? Very impressive! She’s
probably a genius.
b. OH, HaBépHO, réHuM He’s probably a genius
(Still looking at pomoepdus)
I'éna 9 | Xopomwo. S Bcé moHMMA0. ITO TBOS CTApLIAs OK. Iunderstand everything. That’s your
10 | cecTpd, a 3T0 € MyK. older sister and that’s her husband
Oas 11 | HeT, ThI onsiTH BCE meperyTall. 10 MO MIAammii | No, you mixed up everythng up again. That’s
12 | OpaT u erod xeHa. A 3T0 uX IETH. my younger brother and his wife. And that’s
(those are) their children.
T'éna: 13 | A rae )KuBYT UX OETH? Where do their children live?
FOus: 14 | [Toub — mporpammuct. OHA xkuBET B Kanudopuuu, | Their daughter is an computer programmer. She
15 | B Can-®panmpicko. A cbiH He pabotaer. OH lives in California, in San Francisco. Their son
16 | yumnrcs B [IpriHCTOHE. doesn’t work. He goes to (school at) Princeton.
I'éna 17 | B IIpriacToHe? Hwuuerod ce6é! On, HaBEpHO, T€HUU. | (At) Princeton? Very impressive! He's
probably a genius.
CaoBapsb Vocabulary
1 | BCé everything
1 | HOHHMAIO (1) understand
2 | erd his
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6-1 ypok MpammaTuka
___________________________________________________________________________________________________________________________]

3 | omsTh again
3 neperyTan/a (vou) mixed up (masc/fem) (Another past tense form — note the -11- in both
forms. More on this later.)
4 | eé her (possessive); hers
4 | ux their, theirs
5 | mérm children (Use only the plural for now; the singular is from a different word.)
6 | HHXCHEP engineer (M/F)
7 | pabdTaer (s/he) works
7 VAUTCA B ... (s/he) is a student at; goes to (school at); studies at
8 | Huuero cebé very impressive! wow! not bad!
8 | HaBépHO probably
8 | réHuit genius
14 | mporpamMMHCT computer programmer (M/F)
& e e

6.A Word order (cont’d)
s1 BCE noHmmato (1); Tbl onATb BCE nepenytana (3)

Note that in Russian the direct object Bcé can come before the verb, while in English, it must follow the verb: [
understand everything. It would sound strange in Russian to put Bcé after the verb, though technically it would
not be grammatically incorrect. Generally (but not always), “little” words, especially pronouns, precede the verb.
We won’t offer any grand theory of word order here; we just want you to pay attention to the differences between
Russian and English.

6.b Possessives

We’ve already seen that the endings of moii, TBoii, Ham, Bam, etc. change depending on the ending of the noun
they are modifying (mMoii 6pat vs. mosi cectpa). The 3™ person possessives (erd his, eé her, ux their) never
change, regardless of the gender or number of the noun they modify":

MASC:  wmoii 6par TBOM Opar Ham Opat Ba Opar Opar
FEM: MOsI cecTpa TBOSI ceCcTpa HAIIIA CecTpa BAIIIa cecTpa ero cecTpa
BUT: eé
NEUT:  mo€ kpécno  TBOE Kpécio HAIIIEe KPECIIo BAIIIe KPECIIO HX KpECIIo
(armchair)
PL: MOM POAUTEIX  TBOW POAUTENH HAIIW POAUTENH BAIIM POJIUTEIH poauTtenu

' And, as we’ll see later, re%ardless of the Case of the noun thez modifz as well.
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Grammar Lesson 6

g@ Transform the following phrases as shown in the example:

Example: my sister ] 3:mo Most cecmpad.
his father ] Bmo e26 oméy.
1. my mother 2. her son 3. their parents 4. my husband
5. her husband 6. their son 7. our son 8. your (sg) older sister
9. his older brother 10. my dog 11. her dog 12. our (male) cat
13. our children 14. her children 15. your (pl) parents 16. your (sg) younger brother
6.B Basic Negation in Russian

OH He paboTaeT (4)

Negation consists of putting the negative particle He in front of the word or phrase that you wish to negate. In the
most common case the structure is:

SUBJECT + HE + VERB
On HE pabotaer He doesn’t work.
)il HE IMOHUMAIO 1 don’t understand.

&= : Note that there’s no need for a helping verb, as in English: He does not work; I am not

| sleeping.

You can also negate something besides the verb. For instance, if someone says I Bcé monnmaro, / understand
everything, the thing you want to negate is Bcé: 51 [ne Bcé] monumaro / don 't understand everything. You’re not
negating the fact that you don’t understand, but that you don’t understand everything. Simply put He directly in
front of the element you wish to negate:

AFFIRMATIVE ELEMENT BEING NEGATED NEGATIVE
OH — réHuii. TEHHIA OH [He réuuii].
S1 noHuMaro. MTOHUMAFO S [He moHUMAR0].
OnH paboTaer. paboTaer OH [He paboTaer).
Jl¥ima KpacUBBIil MAPCHD KPaCUBBII Miima [HeraCﬁBLIﬁz] MIAPCHB.
Mama >xuBET B ATIAHTE. B ATiIdHTE Mara >xuBEr [He B ATIAHTE].
51 Bc€ moHuMaro. BCE 41 [He BcE] monmMaro.

2 Negated ad]'ectives and adverbs are often sBelled as one word. Don’t wog about it for now.
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6-1 ypok MpammaTuka

% Negate the following sentences:

Example: Mos cectpa — mporpammuct. [ | Mosi cecmpd ne npozpammiicm.

1. Koas — Bpau. 2. Omnn xuByT B MOCKBE. 3. 4 moHmmaso.

4. OH yuurcs. 5. Auns xpaciiBas 1éByuka. 6. Omn paboTaer.

7. BHTS — KpacUBLIA TAPEHb. 8. TléTts — agBOKAT. 9. Hx nousp pabodraert.
10. 4 Bcé moHnMaro. 11. I'éna padoraer B [laproke. 12. Kcroma — réumii.
6.I ‘Location’ Endings on Nouns

-e vS. -un vs. no change

Most nouns expressing location end in -e (B kiy6e, B ATndnte, B Hpio-Mépke, B Bamuurréne). However, if
the dictionary form of a word ends in -uii, -us1, or -ue, the Location ending is -uu:

For most nouns (those ending in a consonant, -a, or -0):

DICTIONARY FORM LOCATION ENDING LOCATION FORM
MASC: KIy0, HL}O—I7I()pI< B KI1y0Oe, B HBIO—I;’I(’)pKQ
FEM: ATniaHra, kKOMHaTa (room) -C B ATiaHTe, B KOMHATE
NEUT: kpécio (armchair), MéCTO (place) B Kpécie, B MEécTe

For nouns ending in -uu, -us, or -ue:

DICTIONARY FORM LOCATION ENDING LOCATION FORM
MaASC: kadetépuii (cafeteria) B KadeTépuu
FEM: Poccus (Russia), Kamudopaus -UHn B Poccun, B Kanmndopauu
NEUT: 3nanue (building) B 314HUU




Grammar Lesson 6

Finally, in the dialogue we saw B Can-®pannycko when we expect B Can-Opanmicke. The reason is:
Foreign nouns ending in -o, -u, -y, -e do not decline

That is, they don’t change their ending to reflect their function in the sentence. Therefore the dictionary form is
the only form that exists. Some others like this are:

B Hb10-/Isképen, B Oraiio, B Muccypu, B Monaxko, B Baky, B MeTpd, B kuné, B kadé’, B Iepy, B Canra-®e

% Put the following places in their ‘Location’ form according to the example:

Example: Moii 6par pa6oraer (Mumuana). [ Mou 6pam paboémaem 6 Hnoudme.
1. Kons xusér (bepnin) 2. Mama pa6dtaer (Mcmanms)

3. Mg 6p1m (PriHO) 4. Mon ponntenn xuByT (IIpara)

5. Ou (XémbCHHKM) 6. Ounbra KuB&T (Fapnem)

7. Ero6 orén padoraer (Tamkénr) 8. Ux néru xuByT ([Tepy)

9. Héans yuurcs (I'apsapn) 10. Cepéxa padotaer (Poccrs)

> In most foreign words, a consonant preceding the Soft-indicating vowel ‘e’ is not pronounced soft, i.e., it is pronounced as

if the following letter were 3’.
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6-1 ypok Spelling / Sounds

In the vowel table in Lesson 5 you may have noticed that unlike the other 4 basic vowel sounds, which have two
possible spellings ({A} = a/s1, {E} =1/e, etc.), {O} has THREE possible spellings: ‘0’ after hard consonants and
either ‘€’ or ‘e’ after soft consonants. The letter ‘@’ appears only under stress. When not under stress, ‘€’ loses
the two dots, making it seemingly indistinguishable from the ‘e’ used to represent soft-indicating {E}.

|
? i Question: If you see an unstressed letter ‘e’, how can you tell whether it’s a soft-
[ ] . . . . . "
indicating {E} or an unstressed soft-indicating {O}?

|

|

i Answer: You can’t — sort of. You need to find an instance where the vowel is stressed.
| If it’s really {O}, then when under stress the two dots will ‘re-appear’ and

i you’ll pronounce a real /o/ sound. If the letter is really {E}, then even when

! under stress the two dots won’t appear and you’ll pronounce a /e/ sound.

So, where could we possibly find an instance where the vowel is stressed? As you’ll soon discover, stress in
Russian can move around, such as between the singular and plural forms of a noun (and a few other places).
Look at cectpa sister (sg). Is the second letter basic {E} or {O}? From this one form it’s impossible to tell, but
knowing that the plural is cécTpsl tells us that the vowel is really an {O}: c*{O}ctp {l}.

What about nena matters, affairs? The singular is néno, which indicates the second letter is {E}, otherwise it
would have been agia.

What if the letter ‘e’ is never stressed, like Tedst you? In that case, we’ll just say that the ‘e’ in this word is basic

{E}; since the vowel is NEVER stressed, there’s no proof that it’s really {O}.

Here are some more examples of unstressed letter ‘e’ with their true identities being unmasked by showing
another form. (Some words we’ve seen already; don’t worry about the others for now.)

Basic {E} Basic {O}
Word Proof Word Proof
nena singular is ngno cecTpa plural is c€cTpsl
MECTa singular is Mécto JKEHA plural is xEHBI
rpex under stress it’s still ‘e’ 3IAHUE similar noun ending is OKHO KUTHE
MEHSI this ‘e’ is never stressed Y3HAET similar verb ending is y3Haér
TenedOH these ‘e’s are never stressed xopoiiee similar adj. ending is 6onbide

We will be sure to identify any ‘hidden’ {O}s as we introduce new vocabulary.
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6-11 ypok — [lomaluHee 3agaHue

,@f Exercise 1 Answer the following questions about the spelling of {O}:

a) How does the spelling of {O} differ from that of all other basic vowel sounds?

b) Under what circumstances can you not say for certain what the basic vowel sound is?

¢) How is it sometimes possible to remedy the problem in (b)? Provide an example.
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6-1 ypok JomaluHee 3agaHve
2 Exercise 2 Negate the following sentences:

1. Ou réuuii.

2. Tams Bcé moHuMAaer.

3. Cnésa yuutcs B ['apBapne.

4. Moii cTapmmii 6pat aBOKAT.

2< Exercise 3 Translate into Russian:

1. Where does his sister live?

2. Our son goes to Princeton (University).

3. Their parents don’t live in Atlanta, they live in Albania (An6anus).

4. Is that your younger brother?
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